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10.0  (kN/n?)
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30.00 (° )
19.0  (kN/m*)

0.577
0.0  (kN/m)
183.23  (KN/?)
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10.00 (N/mm?*)
0.45 (N/mm*)

160 (N/mm*)
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§2
2.1

CLP  (H)4500x (B)2950
0.130

>

10kN/m?

4.500

H=

B= 2.950

i
'J/ﬂr

No.



§3
3.1

3.1.1
@

2V 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/ )
288.34 79.13 0.430 3.54 2.10 183.23 12.26 | 0.K.
0.492 1.50 1.50
I
e = 0.430
—
; 1 :
3 !
—

No.



No.

3.1.2
@
ZV 2 H e Qqu [0}
(kN) (kN) (m) Fs Fs (kN/m? )
260.14 79.13 0.483 3.17 1.90 174.81 1.55 | 0.K.
0.492 1.50 1.50

174.81

1.55




3.2
3.2.1

3.2.2

No.

b (mm) 1000 1000
d (mm) 90 260
D22 - 7.5 D22 - 7.5
2
As () 2903 2903
X (mm) 55.1 113.1
” o ) 1.84 x 10° 86.00 x 10°
3 3
S ) 5.52 x 10 61.43 x 10
ogc 0.93 6.84
(N/mm*) o ca 10.00 10.00
gs 8.8 133.3
(N/mm*) o sa 160 160
T 0.06 0.24
(N/mm*) T ca 0.45 0.45
b (mm) 1000 1000
d (mm) 260 90
D22 - 7.5 D22 - 7.5
2
As () 2903 2903
X mm . .
113.1 55.1
M o ) 86.00 x 10° 4.78 x 10°
3 3
S 0 20.05 x 10 26.06 x 10
gc 6.84 2.42
mm o ca . .
N/mm? 10.00 10.00
gs 133.3 23.0
(N/mm*) o sa 160 160
T 0.08 0.29
(N/mm*) T ca 0.45 0.45




§4

4.1

4.1.1

D

4.2

2)

1.000 m

x y)

No.



4.2.1
@
1)
A X y A X Ay
(m) m @) | @ (m) (m) (m)
2.950x 4.500= 13.275| 1.475| 2.250 | 19.5806 |  29.8688
al- 0.170x 1.000= -0.170 | 0.215| 4.000| -0.0366 |  -0.6800
b|-1/2x 0.170x 3.200= -0.272 | 0.243 | 2.433| -0.0661 -0.6618
c|- 2.300x 4.200= -9.660 | 1.450 | 2.400 | -14.0070 | -23.1840
d|-1/2x 2.300x 0.170= -0.196 | 1.833 | 0.243| -0.3593 | -0.0476
el - 0.350x 4.370= -1.530 | 2.775| 2.315| -4.2458 |  -3.5420
1.447 0.8658 1.7534
al
Vo=3A L= 1.447 x 1.000 = 1.447 (n°)
V =Vo yc= 1.447 x 24.5= 35.45 (kN) b
SA X 0.8658
X s A 1.447 0-598 (m)
SA y 1.7534 &
y S A 1.447 1.212. (M
2
1)
A X y A X Ay
(m) m @) | @m (m) (m) (m)
2.820x 4.370= 12.323 | 1.540 | 2.315| 18.9774|  28.5277
a|-1/2x 0.170x 3.200= -0.272 | 0.187 | 1.367 -0.0509 -0.3718
b - 0.170x 0.170= -0.029 | 0.215| 0.215|  -0.0062 -0.0062
c|-1/2x 2.300x 0.170= -0.196 | 1.067 | 0.187 -0.2091 -0.0367
11.826 18.7112 |  28.1130
Vo=3A L=11.826 x 1.000 = 11.826 (n°)
V =Vo ys= 11.826 x 19.0 = 224.69 (kN)
a
SA X 18.7112
X T 75 A T 11826 1.582 (M N
SAy 28.1130 (o==c
y S A 11.826 2.377 (m)

No.



4.2.2
V =g b L=10.0x 2.820 x 1.000 = 28.20 (kN)
x =B -2 = 2050 - 280 _ 1 su0m)
2 2
4.2.3
W sin(w-¢)

cos(w-¢ -0 -a )

Pa (kN/m)

W (kN/m)

W ¢)

® ¢)

g ¢)

a ¢)
V =Pa sin(6 +a) L
H =Pa cos(® +a) L

Vo, H: (kN)
. )  L=1.000 (m)

— .
~

No.



No.

h = 4.500 (m)
¢) kP7 )
a = 0.00 (° N/m
W o= 137.05 (kN/m) [ 25.98] 10y
w = 600 C)Y) ol
5 = 0.00C Y 75.0|
® = 30.00 C°)
50.0f
25.0]
0804 50 60 70 8 90
w()
P 137.05 x sin(60.00 - 30.00)
cos (60.00 - 30.00 - 0.00 - 0.00)
= 79.13 (kN/m)
IRRRERRRRRRRRRINRENREND IRRERRRERRERRRDRRENREIN
w Pa W
64.00 78.088 | 115.77
. 63.00 78.546 | 120.95
60.00 62.00 78.871| 126.22
61.00 79.055 | 131.57
*  60.00 79.126 | 137.05
59.00 79.061 | 142.63
58.00 78.868 | 148.33
57.00 78.543 | 154.15
56.00 78.086 | 160.10
V = 79.13 x sin( 0.00 - 0.00) x 1.000 = 0.00 (kN)
H = 79.13 x cos( 0.00 - 0.00) x 1.000 =  79.13 (kN)
X = 2.950 (m)
y = 4-75002 1.500 (m)

3



No.

8§85
5.1
1)
>V tand +C B L
Fs = = S H Fsa
Fs
Fsa : Fsa = 1.50
>V (kN)
>H : (kN)
tand :
tand = 0.577
C C = 0.0 (kN/m*)
B B = 2.950 (m)
L ( ) L= 1.000 (m)
2)
2 Mr
Fs = s Vo Fsa
Fs :
> Mro: (kN m)
> Mo : (kN m)
Fsa : Fsa = 1.50
d e
g = ZMr-2M
- TV
B
e = > T d
>V (kN)
> Mr (kN m)
> Mo (kN m)
B B = 2.950 (m)
e
1
e 6 B

10



3

Qr,Q2 -
2 Mr :
2 Mo :

>V

o ® r

(KN/m?)
(N m)
(N m)
(kN)
B = 2.950 (m)
L =

B
S - d

2 sV
T3 gL
(o} >V 6 e
¢ B L CF g

2 sV
® T3e-0 L
1.000 (m)

(m

(m

)

No.

11



5.2
5.2.1

D

2)

No. 12

No v H X y Mr Mo
(kN) (kN) (m) (m) (kN m) (kN m)

1 35.45 0.598 | 1.212 21.20

2 22469 1.582 | 2.377 355.46

3 28.20 1.540 | 4.500 43.43

4 79.13 | 2.950 | 1.500 118.70

z 288.34 79.13 420.09 118.70
3
2
L —
U
Fs = >V p +c B L 288.34 x 0.577 + 0.0 x 2.950 x 1.000
B T H B 79.13
= 2.10 Fsa = 1.5
> Mr 420.09
Fs = s Mo 118.70 3.54 Fsa = 1.50
R
> Mr - X Mo 420.09 - 118.70

d = sV 28834 = 1.045 (m)

R

e = B -d= 2:950 1.045 = 0.430 (m)

2 2
le] = 0.430 (m) 4%* B = 0.492 (m)



3)

Q:
= +
B L 1+ B

Q2

>V 6 e

288.34 6 x

183.23 (kN/m?)
12.26 (kN/m?)

):

183.23

2.050 x 1.000 * (1%

Ininnmnm

12.26

0.430
2.950

No.
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5.2.2

D

2)

No.

No v H X y Mr Mo
(k\) (k\) (m) (m) (KN_m) (KN_m)
1 35.45 0.598 | 1.212 21.20
2 22469 1.582 | 2.377 355.46
3 79.13 | 2.950 | 1.500 118.70
z 260.14 79.13 376.66 118.70
2
O
1
U
Fs = >V p +c B L _ 260.14 x 0.577 + 0.0 x 2.950 x 1.000
- ZH - 79.13
= 1.90 Fsa = 1.5
> Mr 376.66
Fs = s Vo 118.70 3.17 Fsa = 1.50
R
> Mr - X Mo 376.66 - 118.70
d = sV ) 260.14 = 0.992 (m)
R
e = B -d= 2-950 - 0.992 = 0.483 (m)
2 2
1
le] = 0.483 (m) 5 B = 0.492 (m)

14



No.

3)

¢ _ ZV . 6e 260.14 , 6x 0.483
¢ B L 5 )7 290x 100 ¢ (L 2.950 )
174.81 (kN/m*)
1.55 (KN/i?)

1.55

174.81

15
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No.

§6

6.1

00¢"v ,




6.2
6.2.1
1
Pa
a =  3.04C) LG/m
W= 13.62 (kN/m) [ 6.72] .
® = 56.10 °)
5 = 20.00 )
@ = 300¢C) e
5.0
%% 4 50 ;6‘0 70 80 100
w()
ba - 13.62 x sin(56.10 - 30.00)
& = "cos (56.10 - 30.00 - 20.00 - 3.04)
= 6.00 (kN/m)
T T LTI T
\ 56.10°
w Pa W
61.00 5.887 11.32
|>I 60.00 5.924 11.76
59.00 5.957 12.22
58.00 5.980 12.69
57.00 5.989 13.16
* 56.10 6.001 13.62
56.00 5.996 13.66
55.00 5.992 14.17
54.00 5.972 14.68
53.00 5.935 15.19
52.00 5.897 15.74

17



2)
Pa
a = 3.04(C) gki/m)y
W = 145.67 (kN/m) [ 28.777 ..
w = 57.20 (°)
o) = 20.00 ((> ) 50.01
@ = 30.00 (C°)
25.01
0% "4 "0 6 70 80 100
w(®)
Pa 145.67 x sin(57.20 - 30.00)
cos (57.20 - 30.00 - 20.00 - 3.04)
=  66.76 (kN/m)
L ]
w Pa W
62.00 65.465 122.03
57.20° 61.00 65.921 126.76
60.00 66.294 131.61
59.00 66.551 136.53
58.00 66.708 141.56
* 57.20 66.761 145.67
57.00 66.760 146.70
56.00 66.708 151.97
55.00 66.534 157.34
54.00 66.259 162.88
53.00 65.850 168.53
H =Pa cos(® +a) L
L ( ) L = 1.000 (m)
Pa o a H y
(kN/m) (D) (D) (kN) (m)
6.00 20.00 3.04 5.52 0.333
66.76 20.00 3.04 61.43 1.400

18



6.3
6.3.1

6.3.2

6.4
@

No.

H = 5.52 (kN)
H y=5.52x 0.333
= 1.84 (kN m)
H = 61.43 (kN)
H y=61.43 x 1.400
= 86.00 (kN m)

b = 1000 (mm) |ooooooo|J§>AL

d = 90 (mm)

As = D22 - 7.5 ! 1000 !

= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
= -1+ 1+ N AS
15 x 2903 2 x 1000 x 90

= 1+ /14

1000 15 x 2903
= 55.1 (mm)

M= 1.84 (kN m)
S = 5.52 (kN)
_ 2 M _ 2 x 1.84 x 10°
b x d- ‘%;’ 1000 x 55.1 x (90 - “52;1*)
= 0.93 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
- M _ 1.84 x 10°
- X - 55.1
As d - 3 2903 x (90 - 3 )

= 8.8 (N/mm?*) osa= 160 (N/mm*) 0.K.
_ s 5.52 x 10°
~ b d 1000 x 90
= 0.06 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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No.

3]
3
b= 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D22 - 7.5 1000
= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
X = b -1+ 1+ N AS
15 x 2903 2 x 1000 x 260
= X -1 + 1+
1000 15 x 2903
= 113.1 (mm)
M= 86.00 (kN m)
S = 61.43 (kN)
2 M 2 x 86.00 x 10°
oc= x 113.1
b x d - 3 1000 x 113.1 x ( 260 - 3' )
= 6.84 (N/mm*) o ca = 10.00 (N/mm*) 0.K.
o= M _ 86.00 x 10°
ps d - = 2003 x ( 260 - 1y
3 3
= 133.3 (N/mm*) osa= 160 (N/mm*) 0.K.
= S 61.43 x 10°
b d = 1000 x 260

0.24 (N/mm*) Ta = 0.45 (N/mm*) 0.K.



§7 ( )

( )
7.1
1
2.650
¢H)
A X
(m m ) (m A x (m)
2.650x 0.300= 0.795 1.325 1.0534
a|-1/2x 2.300x 0.170= -0.196 1.533 -0.3005
b|- 0.350x 0.170= -0.060 2.475 -0.1485
0.539 0.6044
A X 0.6044
X = s A = 0539 - 1.121 (m)

S =A yc L= 0.53 x 24.5x 1.000 = 13.21 (kN)

M =S x = 13.21 x 1.121 = 14.81 (kN m)

a—Th]




&)

A X
(m) (m) (m) (m) A x (m)
2.650x 4.370= 11.581 1.325| 15.3448
a|-1/2x 2.300x 0.170= -0.196 0.767| -0.1503
11.385 15.1945
SA X 15.1945
X F 5 A T 11385 - 3B

S =A ys L=11.38 x 19.0 x 1.000 = 216.32 (kN)

=
1]

S x = 216.32 x 1.335 = 288.79 (KN m)

)

10.00 (kN/n?)

o
1]

S =g b L= 10.00 x 2.650 x 1.000 = 26.50 (kN)

x
1]

1.325 (m)

M =S x= 26.50x 1.325= 35.11 (kN m)




©)
D

2)

Q:
Q2

Qs

183.23 (KN/n?)

12.26 (kN/m?)
G + (G- G) 44%3,: 12.26 + ( 183.23 - 12.26)x ;:ggg
165.84 (kN/m?)
(@ +q) L L ( 165.84 + 12.26) x 2.650 x 1.000
2 - 2
235.98 (kN)
L 2 g +q _ 2.650 2 x 12.26 + 165.84
3 o + O -3 12.26 + 165.84
0.944 (m)
S x = 235.98 x 0.944 = 222.77 (kN m)

174.81 (kN/m?)
1.55 (kN/m?)

o + (- q) 44%3,: 1.55 + ( 174.81 -  1.55)x ;:ggg
157.19 (kN/m?)
(@ +q) b L ( 157.19 + 1.55) x 2.650 x 1.000
2 - 2
210.33 (kN)
I 2 g +Q _ 2.650 2 x 1.55 + 157.19
3 o + O -3 1.55 + 157.19
0.892 (m)
S x = 210.33 x 0.892 = 187.61 (kN m)

No.

23



7.2

iy
No S M
(kN) (kN m)
1 13.21 14.81
2 216.32 288.79
3 -235.98 -222.77
4 26.50 35.11
20.05 115.94
Mo = 86.00 (kN m) M
M = Mo
2)
No S M
(kN) (kN m)
1 13.21 14.81
2 216.32 288.79
3 -210.33 -187.61
19.20 115.99
Mo = 86.00 (kN m) M
M = Mo

86.00 (KN m)




7.3

No.
3
b = 1000 (mm) ooooooo—N—
d = 260 (mm)
As = D22 - 7.5 1000
= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2903 2 x 1000 x 260
= 1+ /1 +
1000 15 x 2903
113.1 (mm)
M= 86.00 (kN m)
S = 20.05 (kN)
2 M _ 2 x 86.00 x 10°
b x d—% 1000 x 113.1 x (260 - 112'1)
6.84 (N/mm?*) o ca = 10.00 (N/mm*) 0.K.
M _ 86.00 x 10°
ps d - = 2003 x ( 260 - 1y
3 3
133.3 (N/mm?) osa= 160 (N/mm*) 0.K.
S 20.05 x 10°
b d =~ 1000 x 260
0.08 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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No. 26

§8 ( )
( )
8.1
|
o!gﬁo
@
A=b h= 0.350 x 0.130 =  0.046 (m*)
S =A yc L= 0.046 x 24.5 x 1.000 =  1.13 (kN)
M =S x = 1.13x 0.175=  0.20 (kN m)
@
A=b h= 0.350 x 4.370 =  1.530 (m*)
S =A ys L= 1.530 x 19.0 x 1.000 = 29.07 (kN)

M =S x = 29.07 x 0.175 =  5.09 (kN m)




3

g = 10.00 (kN/m*>)
S =g b L= 10.00 x 0.350 x 1.000 =  3.50 (kN)
x = 0.175 (m)
M =S x= 3.50x 0.175=  0.61 (kN m)
(C)
D
g = 183.23 (KN/m?)
g = 12.26 (KN/m)
Qs = Qe + (ql— qz) %Z 12.26 + ( 183.23 - 12.26)x (2)::;:8
= 32.54 (kN/m)
g = (@+q@) I L _ ( 3254+ 12.26) x 0.350 x 1.000
- 2 - 2
= 7.84 (kN)
y B 2 g +@ _ 0350  2x 12.26+ 32.54
T3 o + g -3 12.26 + 32.54
= 0.149 (m)
M = S x = 7.84x 0.149 =  1.17 (kN m)



8.2

2)

D

2)

No.

o = 174.81 (kN/m*)
g =  1.55 (KN/m)
g =g + (- q) 78 = 1.55 + ( 174.81 - 1.55)x (2)328
= 22.11 (kN/m)
s (@ +q) I L ( 2211+ 1.55) x 0.350 x 1.000
2 - 2
= 4.14 (kN)
y B 2 @ +q _ 0.350 2 x 1.55 + 22.11
3 o + O T3 1.55 + 22.11
= 0.124 (m)
M = S x = 4.14 x 0.124 = 0.51 (kN m)
No S M
(kN) (kN m)
1 1.13 0.20
2 29.07 5.09
3 -7.84 -1.17
4 3.50 0.61
> 25.86 4.73
No S M
(kN) (KN m)
1 1.13 0.20
2 29.07 5.09
3 -4.14 -0.51
b 26.06 4.78
S = 26.06 (kN)
Moo= 4.78 (kN m)

28



8.3

No.
b = 1000 (mm) |ooooooo|ﬁqL
d = 90 (mm) ‘ 1000 ‘
As = D22 - 7.5 ! !
= 29.03 (cm’) = 2903 (mm*)
n = 15
n As 2 b d
b -1+ 1+ T As
15 x 2903 2 x 1000 x 90
= 1+ /14
1000 15 x 2903
55.1 (mm)
M= 4.78 (kN m)
S = 26.06 (kN)
2 M _ 2 x 4.78 x 10°
b x d- Ag, 1000 x 55.1 x (90 - 52'1 )
2.42 (N/mm?*) o ca = 10.00 (N/mm*) 0.K.
M B 4.78 x 10°
X - 55.1
As d - 3 2903 x (90 - 3 )
23.0 (N/mm?*) osa= 160 (N/mm*) 0.K.
S 26.06 x 10°
b d 1000 x 90
0.29 (N/mm*) Ta = 0.45 (N/mm*) 0.K.
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